Evaluating Variable Expressions Ansuuer Key
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Evaluating Expressions (A) Answers

Evaluate each expression using the values given.

.b-(9-0b)-b 6. (z—z+6) 6 11. u=(a-a?)
(6=9) (z = 10) (a=1,u=10)
=0 =50 =10
u—(u—u)’ 7. b*+b-10 12.6+34+y+8
(u=10) (b=1) y=7)
=10 =10 =17

: . 9—6+b+2
y+y—y)+y 8. x4+ (5—1)° 1832
y=2) x=1) b3y
=1 =17 =%

(5= (x+4))° 0 &2 14. ax + (6a)
gx=(l) ) (a=2) (41:9,35:3)

(e=(c—c))-2 10. 8+1+4+u 15.a+9~7-+a
(c=5) (u=1) (a=2)
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Evaluating Expressions (A) Answers

Evaluate each expression using the values given.

(u—u+(8—x))7—u

(x=4,u=06)

. 3+1(u+1+6+a)
(e ou=3

2

(x—c)+(4+(4-3) -

(x=9,c=15)

=38
0+(6+(a-a))-a+9
a=23)

=35

10.

6. (2—v)+(10+y-3)+5
(y0=8,v:2)

.v_y+c .

4 Y
(y=1,c=7,v=3)
=43
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Evaluating Expressions (A) Answers

. 10(x—b)
(x=8,b=13)
=50

Evaluate each expression using the values given.

6.

10.

c—(7—c)
(c=5)
=3

8 —b)
(c=8,b=28)

11. y+-4+3
y=1)
13
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13. x— (7—4)

14.

Il =8
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15. x+4-10
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Rewriting Formulas (A) Answers

Solve for ¢ in terms of the other variables.

y—(—-10—c) =z 6.c+b—z=10 1. c+a+x=v
c=-10—(y—2) c=10+2z-5 c=v—Xx—a
z—cCc4+2=y 7.x—(c+a)=b 12. c+x+a=v
c=z—(v=2) c=x—b—a c=v—a—x
c+a+y=3 8. x—(c+u)=y 13. 2=u—(c+x)
c=3—-y—a C=X—y—u c=u—2—x
.ct+x+4=y 9. u=b—(c+v) 4. v—c+2z=73
c=y—4—x c=b—u—v c=v—(3-2z)
.Cc—Vt+u=a 10. c+z—x=b 15. y=c+u—=x
c=a—u-+v c=b+x—z C=y+Xx—u
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Rewriting Formulas (A) Answers

Solve for u in terms of the other variables.

L uc=y s 84—, 9. 3u=y
u=- U u==
c y=2 3
%
2. v = —6u 10, uy =a
y— X 6_b_—c u:E
6 ‘u Yy
b
U=~
c
3 2 =g i y="2
-2 »
y u _Y
Uu—=-— 7—=y u—v
a thzyz
12. uy = -—10
4 2="2 8. —3u =7 10
1% _ U=-——
u=72w =73 y
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